WORKSHEET ONE

Work out the following:

a) (x + 4)(x – 5)

b) (x – 2)(x –5)

c) (x + 1)(x + 4)

d) (x – 3)(x – 7)

e) (x – 2)(x + 5)

f) (x + 2 )(x + 5)

g) (x + 3)(x – 5)

h) (x – 5)(x – 4)

i) (x + 2)²

j) (x + 2)(x – 2)

k) (2x – 3)(x + 4)

WORKSHEET TWO

Use this method to work out the following:

a) (x + 5)(x + 2)

b) (x – 2)(x – 5)

c) (x – 3)(x – 6)

d) (x + 3)(x – 5)

e) (x + 4)(x – 5)

WORKSHEET THREE

Factorise and solve these equations:

a) x² - 15x + 36 = 0

b) x² + 16x – 36 = 0

c) x² - 12x + 36 = 0

d) x² + 7x + 12 = 0

e) x² - 7x + 10 = 0

f) x² + 4x – 60 = 0

g) x² - 14x + 13 = 0

h) x² + 6x – 10 = 0

i) x² + 14x + 49 = 0

j) x² - 18x – 43 = 20

